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M.Sc. DEGREE EXAMINATIONS, NOV/DEC—2011
REGULATIONS 2007
FIRST SEMESTER
XCS 111 - ENGLISH -1
SOFTWARE ENGINEERING

{Common to Information Technology and Computer
Technology)

(Also applicable to Regulations 2009)
Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART—A (10x2=20 marks)

1. Match the words in Column A with their meanings in

Column B: (Ax¥%=2)
A B
(a) countless (1) generate
(b) tranquil (ii) extended walking
() produce (iif) numerous
(d) trekking (iv) calm; peaceful

2. Use suitable suffixes / prefixes to the following words in
accordance with the meanings given against them:

(Ax%=2)

(i) advantage_ : having advantage

(i) continue : that which continues

(ii1) applicable : cannot be applied

@)___ legal :notlegal

3. Identify the sentence patterns for the following: (2x1=2)




[image: image2.png](a) 1 met him yesterday at his office.

(b) Reena gave a dance performance last week.

Change the following sentences into passive voice: (2x1=2)

(a) They have installed a new computing machine in
the accounts section.

(b) The writer has focussed attention on the emerging trends
of technology.
Expand the following compound nouns so as to bring out
their meanings: (4x%=2)
(a) Resource utilization
{b) Concrete structure
(¢) Steam consumption

(d) Communication satellite

Rewrite the infinitive form of the verbs as gerunds:
(2x1=2)

(a) The government plans to open the market for
foreign investors.

(b) His main concern was to raise money for the river
cleaning project.
Write a single sentence definition for the following:
(2x1=2)
(a) Software (b) Multinational company

Fill in the blanks with the appropriate form of the verbs:

(Ax%=2)
Over the last forty years computers __ (develop)
dramatically. The first computers . (can do)
relatively few calculations a second, whereas the present
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[image: image3.png]mainframe can carry out many instructions per second. In
the past only highly (train) computer experts
(are) able to use computers,

Expand the following SI units: (4x%=2)
(a) 20 KHz
(b) 5 KVA
(c) 60 rpm
() 20 Ib/sa’

Correct the mistakes in the given passage:
@

A familer sigth in the Indian countryside these days is a
gulvanised box-like steel structure with a long, sterdy
handle monted on a masseve pedestal.

PART--B (5%16=80 marks)

Read the following passage carefully and answer the
questions given at the end of it:

The heavy damage caused by the recent spell of rain
has made the experts in highways put forward a strong
case for the laying of Cement Concrete (CC) roads. They
say that the advantages of CC roads far outstrip those of
bituminous roads in cost, longevity, maintenance and
riding comfort. They stress that while the Tamil Nadu
Government spends Rs. 10 crores for relaying the
bituminous roads in Chennai alone after every strong
monsoon, the CC roads will last 40 years and require no
maintenance. Moreover, cement is available in plenty
now.

As Cement Concrete roads have a smooth surface,
they provide better riding comfort and the consumption of
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[image: image4.png]fuel will be less. Visibility at night will be better. It will
not disintegrate due to ageing. Many experts say that the
laying of CC roads on the national highways will be
cheaper than the laying of bituminous roads. However,
the supervisory engineering staff and the quality control
staff should be strict when laying the CC roads. According
to rough calculations, while the laying of bituminous roads
over a stretch of one km will cost Rs. 15 lakh, the CC road
will entail an expenditure of Rs. 10 lakh only. But the
construction of CC roads in rural areas will be initially
costlier than bituminous roads.

Bituminous roads do not last long because water
penetrates the bitumen layer and seeps into the cavities
below, thus forming a film between the two. Later, when
vehicles ply over the wet surface, the upper layer is
stripped away and ‘pot holes’ are formed. But this does
not happen on CC roads.

Cement Concrete roads have a few disadvantages. It
is not easy to cut them open to lay electricity or telephone
cables. During day-time, visibility is better on bituminous
roads; on the other hand, on CC roads visibility is better
at night. Joints pose a problem on CC roads and research
is being done on how to avoid jointe in them.

(a) Complete the following by adding not more than 15
words each. (2x2=4)

@) If the quality control staff are not strict when
the CC roads are being built, .

(i) Although the CC roads have a few
disadvantages,

(b) State whether the following statements are true or
false: (4x1=4)




[image: image5.png]12.

(©

(b)

(a)

(b)

(&) The initial cost of laying CC roads in rural
areas will be more than Rs. 15 lakhs per km.

(i) Bituminous roads have less life than CC roads.
(iti) Now there are a few CC roads in Chennai.

(i) At all times, the visibility on CC roads is better
than the visibility on bituminous roads.

Give short answers in not more than 15 words each.

(4x2=8)

(i Why are bituminous roads no longer an
economical proposition?

() Why is it necessary te relay the bituminous
roads after the monsoon?

(i) Give two disadvantages of CC roads.
(iv) How are ‘pot-holes’ formed?
Or

Make notes for the passage given under question no
11 (a). (16)

(i) Write a paragraph describing the process of
opening a savings account in a bank. (8)

(iiy Write a paragraph describing a refrigerator. (8)
Or

(i) Write a paragraph comparing landmail and e-
mail. ®)
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(i) Write a paragraph comparing renewable and
non-renewable sources of energy. (8)

Write a letter to your cousin advising him / her to
take up a computer software course during the
vacation in December. In your letter, explain the
benefits of enrolling such a course. (16)

Or

Write a letter to the Editor of ‘The Hindu’, suggesting
measures to the problem of bad roads due to the
recent rain in your area. (16)

Convert the following passage into a bar chart. (16)

The number of students from various undergraduate
courses of a university who passed out in 2009-10 and
chose various career / higher studies options are
given below. The total number of students who
passed out is 550. The number of students who
joined the Armed Forces. ie., the Army, the Navy
and the Air Force are 30, 15 and 25 respectively.
Around 175 students were placed in several MNCs all
over India. 60 students opted for a course in Master
of Business Administraton in various institutes, 5
students were fortunate to enter the prestigious
Indian Administrative Service, 40 students opted to
do their higher studies abroad. 55 students got jobs
in various public sector undertakings. The remaining
students decided to do their master in the same
university. Draw a bar chart based on the above
information.

Or

The following flow chart presents the process of glass
manufacturing. Write a paragraph of about 150
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15. (a) Imagine yourself to be in the year 2050 and you are
in your early 60's. The fuel position is very bad.
Describe how life was fifty years ago when fuel was
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easily available, Write an essay in about 170-200
words. (16)

Or

Write an essay comparing the input and output
devices of a computer. (16)





